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Instructions for the Candidates

Write your Seat No. and OMR Sheet No. in the space provided

on the top of this page.

This paper consists of 75 objective type questions. Each question

will carry two marks. All questions of Paper-III will be compulsory,

covering entire syllabus (including all electives, without options).

At the commencement of examination, the question booklet

will be given to the student. In the first 5 minutes, you are

requested to open the booklet and compulsorily examine it as
follows :

@) To have access to the Question Booklet, tear off the
paper seal on the edge of this cover page. Do not accept
a booklet without sticker-seal or open booklet.

(i) Tally the number of pages and number of questions
in the booklet with the information printed on the
cover page. Faulty booklets due to missing pages/
questions or questions repeated or not in serial
order or any other discrepancy should not be
accepted and correct booklet should be obtained
from the invigilator within the period of 5 minutes.
Afterwards, neither the Question Booklet will be
replaced nor any extra time will be given. The same
may please be noted.

(@ii) After this verification is over, the OMR Sheet Number
should be entered on this Test Booklet.

Each question has four alternative responses marked (A), (B),

(C) and (D). You have to darken the circle as indicated below on

the correct response against each item.

Example : where (C) is the correct response.
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Your responses to the items are to be indicated in the OMR
Sheet given inside the Booklet only. If you mark at any place
other than in the circle in the OMR Sheet, it will not be evaluated.
Read instructions given inside carefully.

Rough Work is to be done at the end of this booklet.

If you write your Name, Seat Number, Phone Number or put
any mark on any part of the OMR Sheet, except for the space
allotted for the relevant entries, which may disclose your
identity, or use abusive language or employ any other unfair
means, you will render yourself liable to disqualification.
You have to return original OMR Sheet to the invigilator at the
end of the examination compulsorily and must not carry it with
you outside the Examination Hall. You are, however, allowed
to carry the Test Booklet and duplicate copy of OMR Sheet on
conclusion of examination.

Use only Blue/Black Ball point pen.

Use of any calculator or log table, etc., is prohibited.
There is no negative marking for incorrect answers.
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POLITICAL SCIENCE

Paper III

TSI
P9ateRT 111

Time Allowed : 2% Hours]
Note : This Paper contains Seventy Five (75) multiple choice questions. Each

[Maximum Marks : 150

question carrying Two (2) marks. Attempt All questions.

U SRd. @E U Wi

GOl : A YA THY UeewX (75) dguae Ued foel ofed. Ui TR | (2)

Which of the following Government
adopted the ‘Look East’ Policy ?

(A) Devegowda Govt.
(B) Narsimharao Govt.
(C) Vajpeyee Govt.
(D) Gujral Govt.

According to whom “The Study of
Foreign Policies of Nations is the
study of International Relations”.

(A) Hans Morgenthau
(B) Palmer and Perkins
(C) Hartman

(D) Felix Gross

According to whom “Struggle for
power in continuous and universal
politics cannot be without power”.

(A) Mackinder

(B) Hans Morgenthau
(C) Snayder

(D) Woodro Wilson

IV TR hleeld IRAH Jahe
TR’ N WeRd ?

(A) ST TWHR
(B) TRfH8Ua IR
(C) aTeudt TR

(D) TS W

WTeAeTdeh! IOl Ad TSl RS
HIUMET I TRUTS TAWRTSE 3
TEYET I B ?

(A) &9 =t

(B) UemR 9 Thig

(C) BEHA

(D) el U"

..................... an“% am
B WaEqul ST WEe STal, T
fopen TRFEE HIUCE TSR B
Irha ARl

(A) Heniex

(B) &9 Al

(C) H=eX

D) I faee
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When was European Union

established ?
(A) 1972
(B) 1982
(C) 1992
(D) 1994

The Lok Sabha elections of ..............

were the ‘Mid-term Election’.
(A) 1980, 1991 and 1999

(B) 1980, 1998 and 1999

(C) 1991, 1998 and 1999

(D) 1980, 1991, 1998 and 1999

.......................... was the first Election

Commissioner of India.
(A) T.N. Seshan
(B) B.B. Tandan
(C) Nabin Zaidi

(D) Sukumar Sen
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e T T e g 2
(A) 1972
(B) 1982
(C) 1992

(D) 1994

.............................. _q..l. a? a;g. ﬁ ET

faeuh ‘HeEd e’ g

(A) 1980, 1991 37fur 1999
(B) 1980, 1998 3Tfor 1999
(C) 1991, 1998 3Tfur 1999

(D) 1980, 1991, 1998 27U 1999

e g 2.
(A) AT I
(B) @&t 2=

(C) 7o et

(D) YHIX A




The National Development Council

was established in .....c...co.eeo..... .

(A) 15th August, 1950

(B) 6th August, 1950

(C) 6th August, 1952

(D) 15th August, 1952

Judges of the Supreme Court are

appointed by ..........cceeeeiniis .

(A) Prime Minister of India

(B) President of India

(C) Chief Justice of India

(D) Law Minister of India
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(A) 15 3= 1950

(B) 6 3= 1950

(C) 6 3= 1952

(D) 15 3= 1952

Hated ~AATEEr= AERI= THwR

(A) YRAE  Tagem

(B) YRare  Irsgu

(C) YRA™ H&A AR

(D) YRAr  ShIEETHS
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10.

The 6th subclause of ........ of the
Constitution lays down special
provisions for the protection of the
interest and cultural identities of the

hilly tribes of the north.

(A) Article 370

(B) Article 371

(C) Article 244

(D) Article 243

According to Gabriel Almond, which
is not the principle of political

development ?

(A) Structural differentiation

(B) Secularization of political

culture

(C) Institutionalization

(D) Centralization

10.
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.........................

ggTed] SUHFAHT  SIR&FSIA I

Yoyl ST larEe feawssa efir

o

TR idqeh ARTTE ST HoATEra! fowre

TSl T whedl 3T
(A) &M 370
(B) =etd 371
(C) HTH 244

(D) scH 243

Hfoad SHEIAR, TS fawmm

HIUd dx ATEr ?

(A) =AM fafy=TeTo

fa e A

(B) TSI TEhHAA  Ufghiehivl

(C) TENYe

(D) hgrehu




11.

12.

Which one of the following pairs is

correctly matched ?

(A) Political Elite — Pareto

(B) Political System — Mosca

(C) Counter Elite — Hobbes

(D) Circulation of Elites —

Karl Marx

Who argues that Institutionalization

is necessary for modernization and

democracy ?

(A) Huntington

(B) Marx

(C) Gramsci

(D) Susan Moller Okin

11.

12.
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TIeiereh! IV SISl AFa Jesal!

qE 2

(A) TS TS — WA

(B) USThig =FaAT — HIH

(C) Yfagsas — gfes

(D) 3o Ao — i T

stielfaseivad  snfor Atk engiEe!
TN TR 3R, 3T Al hivf
el ?

(A) @A

(B) W=

(C) et

(D) o Hier  3Affeh
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13. Match List I with List IT and select
the correct answer from the codes

given below :
List I
(@) Mosca and Michels
(b) Pareto
(¢) Wright Mills
(d) Burnham
List II
(1) An economic approach
(2) An institutional approach
(3) A psychological approach
(4) An organisational approach
Codes :
(@ ) @ (@
@a 3 @ @O @
B @ B @ @
© 2 @O 6 @

M @1 @ @ @
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13. Welld Hehdih=T aMl e el I

g At 11 wefia 9ng Siedl o
et 1

(@) HER o ey

) =

(c) e fAew

(d) sHgH
et 11

(1) enfefe e

(2) HEHE glewH

(3) WSS gfteehlq

(4) TESATHS gleshM
Hichdleh :

(@ B) @ ()
A 38 @ @O @
B @ 3 @ @
© 2 @O 6 @

M @1 @ @ @




14. Which of the following statements

are correct ?

(@) A ward committee differs from

a subcounecil

(b) The object of a ward committee
is to enhance participatory

democracy in local government

(¢) The council may not dissolve a
ward committee if it fails to

fulfil its object

Select the correct options from the

following codes :

Codes :

(A) (a), (b) and (c) are correct

(B) (a) and (b) are correct

(C) (a) and (c) are correct

(D) (b) and (c) are correct
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14. @t feddt Hivar fauam ses)

Aea ?

(@) 9 gt & IUURERUen et
I

(b) TAfAEH  IMGATHER  HWEHTM

ArhrymEET for &, g oare

Hiec=n $eI Al

(c) ¢ wfdt fa=n Sew qui sHeoar-

e YA Sl X hifdel foe

TERT HE  Ihd

T feeiedn Aiehdiemyd arg e
IEEEINE

Hichdleh :

(A) (a), (b) 3T (¢) R A
(B) (@) 3107 (b) S &
(C) (a) MU (c) & 3R

(D) (b) &AM (¢) S AR
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15. Which one of the following pairs is

16.

correctly matched ?

(A) Business

Association
(B) Farmers
Association

(C) Trade Union

(D) Non-insti-

tutional interest

group

Indian Jute
Mills
Association
Indian Tea
Association
Bharat
Chamber of
Commerce
Indian
Chamber of

Commerce

Which one of the following pairs is

not correctly matched ?

(A) During the
Nehru era
(B) After 1967
(C) During the

Nehru era

(D) After 1990

to 2010

Congress
dominant
Congress
decline era
Communist
Party of India
(CPI) ruled in
Kerala

One Party

dominant era
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15. TIeladeh! HIvdl SISl ar g Jesal

16.

e ?

(A) e
e

(B) kil
e

(C) hMER

e

MaY [a

gled v Hi

AT
sfezm &
ST

IR =g 316

(D) fIR-T=acHs

sfeam <ed

feagaet e 3k whiad

TefieTdeh! IO €t AW S[eel!

TIE 2

(A) J&& I FE T

(B) 1967 R HEE  FEE
il

(C) 7&& 1 L
FHEE T
st 3fean
(Hrdtetr)
HAERT

(D) 1990 AR d

2010

Th T&T FYre

10



17.

18.

Select the correct answer by using

the codes given below :

(a) Historical background of the

state has influenced its politics

(b) Historical symbols have played

important role in state politics

(c)

Political parties do not have any

social base at the regional level
Codes :
(A) (c)is correct but (a) is incorrect
(B) Both (a) and (c) are correct
(C) (b) is incorrect but (c) is correct
(D) (a) and (b) are correct

Who designed the First Indian

Voting Machine ?
(A) M.B. Haneefa
(B) A.G. Rao

(C) Sukumar Sen

(D) T.N. Seshan

17.

18.
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@t fede Hehdiehral o’ hEd

T ) e

(@) TSATAT USRI TGT=AT

Uferfas  arwdyd=n guE TR
TSRToTd Bfderfass

gfcerT=l Hewarsl YfHeR THd

(b) TSIT=AT

(¢c) TR, Udesler TShIF &Il
ISR TR ATe

Hichdich :

(A) (c) T AT W 3T, W (o) 7 3T
TN I

(B) &I (@) 3T (c) AFg W TRd

(C) (b) T 3T W 3T, T (¢) T A
IR 3R

(D) (a) 301 (b) IFT SW 3T
ORAE HaeE I3 YgH Sion femmea
(=) &a ?

(A) TAEST. B

(B) TS &

(C) YHAR A
(D) T ToH

11

[P.T.O.



19. Which among the following is

20.

incorrectly matched ?

(A) Morris Jones— Indian
Political Culture

(B) Rudolph and — Dominant

Rudolph Caste

(C) Wood John — State Politics in
India : Crisis or
Continuity

(D) Igbal Narain — The Congress

System

Most of the Third World States

are :

(A) Ethnically and culturally

divided
(B) Linguistically homogeneous
(C) Rich in natural resources

(D) Economically self reliant

APR - 15317/111—C

19. TicUsh! AT SISl es@n

(A) AT S — YRGS
TRt

(B) TSlch MU — YY@emell S

TS
(C) g8 S — W uifdafem &
sfean : forfaw
3N el

(A) aifersw  srfor ATewRfawg et

faareier oA

(B) wIftehgsedl Tehfadl  3TTed

(C) wafifes Fouxiaread T

aTRd

(D) oTfiiehgseal TomEcel 3T

12
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21. Which of the following is considered | 21 wzfaror emmen Hewla SAqU™
to be the most important first step 5 > TS gEl e
towards environmental protection at

qfed UIel IO 2
the international level ?

(A) IR AReR
(A) Paris Conference

(B) &I Wi
(B) Quoto Protocol

(C) Rikam TRwg
(C) Stockholm Conference
(D) Earth Summit (D) TG RO

92. Birsa Munda was associated with | 22. @ qel A /e vl Hedie
tribal Strugg‘le Off W@ "v'f‘El'Gl'fSﬁ Gﬁ%ﬁa 3:"% 7
(A) North-East Region (A) W Y3
(B) Jharkhand (B) #RES
(C) Nagar Division (C) TR Taym
(D) Deccan (D) TEEA Te¥l

13 [P.T.O.



23.

24.

Which of the following UN organ

does not exist now ?
(A) World health organization
(B) Food

and Agriculture

organization

(C) Trusteeship council

(D) Secretariat

Who among the following had

argued the modern communications

have the effect of condensing all

information into brief slogans ?

(A) Lawrence Lowell

(B) Walter Lippmann

(C) J.S. Mill

(D) Daniel Bell

APR - 15317/111—C

23. Welelyeh! G STl IV @

I R et ?

(A) STfder TR TeeAT

(B) 3= amfor 9t T

(C) fovoa He=x

(D) Hfgered

24. WCeyeh! hIv 8T JfFAE el i

MYH TEaTeR ¥d Aifed! M

EEOTHES Hepfad hvArl RumE el

Ay ?

(A) R fad

(B) dieeX fageq

(C) S.wq. fad

(D) a9«
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25.

26.

Herbert Simon, James G. March, H.
Guetzkow, Richard C. Snyder, HW.
Bruck, B. Spain are famous for

which of the following contribution ?

(A) Application of game theory to

politics

(B) Application of Decision-making

theory to politics

(C) Application of behavioural

approach to politics
(D) Application of input-output
analysis to politics
Who of the following defined political
system as ‘that system of interaction
in any society through which

binding or authoritative allocations

are made and implemented’ ?
(A) Lasswell

(B) Max Weber

(C) David Easton

(D) Almond

25.

26.
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gee EEA, SR ST, W™, TE. T2,

= @l e, wEsy g, o
UEd T 9d foarad @reiieiieh! shivfe

INEEEEST gfEgy eRd ?

(A) ©z T TSHPMET  dr]
HLTITEIS

(B) fofa wfwan fagema TeawmesTen
] HIOATEIS!

(C) =xerel foger< TSHemeTen &)
HLTITEIS

(D) 3TREH-YTH aIveioo  TSaRmETel

QI Qe LRI G

‘R FHSIATA STalfehar= 379
AT HI S TETRRE SN ATFHA
Ted e FYa it @ SAersrsTa
Fd' WA TSR HOEI= RS
AN A N o s N N A
@eileddeh! v foa/edm el ?

(A) =d

(B) He 9}
(C) Sf®e &=

(D) 3THE

[P.T.O.



27. Which of the following are true of

socialism ?

(1)

(2)

(3)

4)

Socialism aims at the

elimination of capitalism

Socialism stands for the
subordination of the interests of

the society to the higher

interests of the individuals

Socialism stands for justice and
liberty. It aims at adding to the

sum total of social welfare

Socialism stands for the
elimination of competition
where there is much economic

waste

Codes :

(A) (1), (2) and (3)
(B) (1) and (3)

(C) (1), (2) and (4)

(D) (2), (3) and (4)

APR - 15317/111—C

27. THSEREE TeAtAeh! hIve faem
SR e ?

(1)

(2)

3)

4)

WTSTAIME! T H0l, & FHASEAETH
e e

= feq@eenr e <A

HATST feqee™ oM |HTe a7l

HATSTEE QORI il

fay

o aooN =X
a?h SIEUSEIEE IS NS I[P ENS

JIeaul, § @ T 3”

T oTTfeR WM o S ST

Yl T HIIIER HHTSERET 9

Sl

Hichdich

(A) (1), (2) 3T (3)
(B) (1) 3fur (3)

(C) (1), (2) =ufr (4)

(D) (2), (3) = (4)
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28.

29.

The following statement “An ideal

state with perfect justice under

philosophers ruler was associated

with whom” ?

(A) Machiavelli’s ‘Prince’

(B) Aristotle’s ‘Politics’

(C) Plato’s ‘Republic’

(D) Hobbes ‘Leviathan’

Who of the following thinker
believed that ‘either a state must

expand or perish’ ?

(A) Aristotle

(B) Plato

(C) Machiavelli

(D) St. Thomas Aquinas

28.

29.

APR - 15317/111—C

e faum * araern Teaehdal e

Rl =S SRR st ey

HITRN HAfqd AR ?

(A) HHrEmaeiea o’

(B) =2ra=n ‘difaced’

(C) ==t ‘Rufsass’

(D) Tfesten ‘wifaene’

‘T AT TR FTeaudTd ST

T2 g’ 3T foaR Wieficieh! shIoTe

~ o« o s
[OERad- Higel  ?

(A) ff=ied

(B) =il

(C) Hfeparsgett

(D) T2 ommE AfFag

17

[P.T.O.



30. Democratic socialism differs from

31.

Marxian socialism on the basis of its

emphasis on :

(A) Social equality

(B) Political equality

(C) Economic equality

(D) Freedom of the individual

‘The history of all hitherto existing

society is the history of class

struggle.” These words are found

in :

(A) Das Capital

(B) Holy Family

(C) Communist Manifesto

(D) Poverty of Philosophy

30. TNHIME

31.

APR - 15317/111—C

THTSETE  ATfoT HIEFEaTe!

FHSEE I1d Bk ShIUN  IeileTueh

HIA HE R ?

(A) gmHfSeh  THAT

(B) USThIg T

(C) smfdier o

(D) TR A

‘eTqddeaT gd  TfEdcard ST

THSTE Sfaerd g oar genen sfaerd

o

AR B AW ETATAIRT R
sMead ?

(A) TH iy

(B) Bl wiHat

(C) ®HfE AHHE]

(D) dfegdl @it fhardrnt
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32. Match List I with List IT and select

the correct answer with the help of

codes given below :

(@)
(b)
(c)

d)

(1)
(2)
3)

(4)

List 1

James I

Hobbes

Locke

Rousseau

List II

Leviathan

The Law of Free

Civil Government

The Social Contract

Codes :

@ b)) (@ (@

@A 2 1 @ 3

B) 1 @ @ @

© @ O @ 3

O 2 1 B @

APR -15317/111—C
32. Eeliel Wiehdmehre HREH ae! 1 9
FEt II =A1 AT gaia Sie

S[eddl :

IJrat 1
(@) = gfgel

o

(b) TIsS

(¢) ©lh

(d) =49

(1) wfaened

(2) T A 3w W

3)

(4) T 9N Hicae

(@ @ @© @
@ @ 1 @ 3
B DO @ @ @
© @ O @2 3

O @ O B @

19
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33.

34.

Which great political thinker
commented that the state comes into
being originating in the bare needs
of the life of man and continuing in

existence for the sake of good life ?

(A) Plato

(B) Machiaveli

(C) Maclver

(D) Aristotle

The theory of scientific socialism in
largely dependent wupon the

teaching of :

(A) Karl Marx

(B) Lenin

(C) Stalin

(D) Chou En Lai

33.

34.

APR - 15317/111—C

“age Siteeren fRER TS T

SRaE 3Tet SR O STRa@ma 9l Siem

I FEA VIS hEH el TR

[a) N N [al fa N
WlctetHen]  oanlVIcdl <IStenld [adIRAdld

T 9 Sha M 7
(A) =i

(B) wehramerett

(C) Heh3TEeR

(D) 3ffeiea

a9 FHSERRET fagia o=

RIhaUEhter  STacied e ?

(A) & g

(B) i

(C) Eefr

(D) = W i
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35.

36.

37.

Which of the following philosophy

was advocated by M.N. Roy ?

(A) Democratic Centralism

(B) Constitutionalism

(C) Radical Humanism

(D) Dictatorship of the Proletariat

Who used the term state in modern

sense for the first time ?
(A) Garner

(B) Aristotle

(C) Hobbes

(D) T.H. Green

Who held the view that even the
worst state is better than the best

anarchy ?
(A) Hegel
(B) Rousseau
(C) Locke

(D) Hobbes

35.

36.

37.

APR - 15317/111—C
HHaETY T I @iceilerdeh!  hiord
TR HIed 2

fal

Bl

(A) ARIME &

(B) TSTHAER

(C) HeWmEl HHedmeg

(D) fyerT=t gHAME

syfeh e Tsg & WA wUH ol
o ?

(A) TR
(B) sffrefea
(C) B

D) dw= =

I STSTehauel 913 TS I,

3 Hq WIEcUR! U SR ?
(A) &
(B) &
(C) dfh

(D) ®lsd

21
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38. Match List I with List IT and select

the correct answer from the codes

given below :

(@)

b)

(c)

d)

(1)
2)
3)

(4)

List I
British Crown
Determinate authority
Pluralism
Absolute Sovereignty
List II
F.M. Maitland
Titular Sovereignty
Hobbes

Austin

Codes :

@ b)) @© @

@ @O @2 B @

B) @2 @ @O 3

© 3 @ @ @

D @ 3 @ @

APR - 15317/111—C

38. ¥l 1 anfor gl II Aefie weehie=n
el J@a1 9 TIea Siehdieh =Y
g9 e fEer

I |

(@) T TNUE

(b) TAfe=@ @
(c) SR
(d) TRz A

et 11
(1) TH.TH. Aeore

(2) FFEE e YEE

(3) wIsd

(4) LA
ﬂ'l%l'?l'l'iﬁ:

(a)
A @)
(B) @)
(ONE))

D) @)

(b)
2)
4)
2)

3)

(c)
3)
o))
(4)

2)

(d)

(4)

3)

(1)

(1)

22



39.

40.

Which is the Supreme authority

according to Locke ?

(A) Legislative

(B) Executive

(C) Federative

(D) Both Executive and Federative

Which of the following pairs is not
correctly matched according to

Machiavelli ?
(A) Power—The right to command
(B) Power—Power politics is virtue

(C) Power— The space of

participation in
speech and decision

concerning public

affairs and action

(D) Power— The goodness and

right are not sufficient

39.

40.

APR - 15317/111—C

TRl TS IO ared  SAEEw
A ?

(A) FPRHSS
(B) SE®RIHE®s
(C) TEF (Hheifes®)

(D) TIET HTEFNHSS o GEI4/
hellc®

Hfeharereti=a TR, STeierdeh! hIvKd
el G et ATEr ?

(A) O — ST QuImEn AfgSR

(B) 9<T— ¥Hxl USRROT BT 00 e

(C) IxT— YeESier W90 FTert

afor Hresifer SIeBR

EiRE I BRI CIC CEIN

(D) A1 — <N[ETaUn A7 PR TJ

Bl
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41.

42.

Which of the following pairs is not
correctly matched (According to

Plato) ?

(A) Justice— Man’s obligation

(B) Justice— The performance of

duties

(C) Justice— Individual’s contri-

bution to the society

(D) Justice— Enjoyment of rights

Who argued that, the concept of
equality was limited to the class of

citizens only ?

(A) Machiavelli

(B) T.S. Mill

(C) M.N. Roy

(D) Aristotle

41.

42.

APR - 15317/111—C

I A, WUkl iUl Sl

A ool AR ?

(A) =F —HOEE] haed  (STEEE)

(B) =™ —hdoAm=l S

fal

(C) <& —HHNTAl e ANeH

(D) == —TFRMET IYHM

Al WHheTTl %A AN agIdr

Tifgd 3T, ST /Al v el 2

(A) Hfmamege

(B) S.w@. faa

(C) TATI. 1A

(D) sfieled
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43.

44.

Which one of the following pairs is

not correctly matched ?

(A) Negative liberty—Frederick
Hayek
(B) Positive liberty—Herbart

Marcuse

(C) Liberty means absence of

constraints—Thomas Hobbes

(D) Self-regarding and other

regarding action—Hegel

Who wrote the book ‘The End of

Ideology’ ?

(A) John Rawls

(B) T.H. Green

(C) Daniel Bell

(D) Tracy

43.

44.

APR - 15317/111—C

Eefieiehl  RIO e A S[eselt

L

(A) THERHE WAA — Hels

HEED

(B) HhRIcHs: @A — gad AR

(C) el ue US| WA —

IqrE  BisSl

(D) TEee afor geRren et
FA — B

“R T dtw safesiiarst’’ § IR
o fafead ?

(A) S Ued
(B) du=. UM
(C) S 9

(D) <t
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45. Which one of the following pairs is

not correctly matched ?

(A) Classical Liberalism : Jerremy

Bentham and Adam Smith

(B) Modern Liberalism : J.S. Mill

and T.H. Green

(C) Neo-classical Liberalism :

Robert Nozick and Fredrick

Hayek

(D) Welfarism : Jerremy Bentham.
T.H. Green and Robert
Nozick

45. AT

APR - 15317/111—C

N A LN a

IO SISl SR Jeoad
T ?
(A) sfgsd — SfE dem e
ESUGREIS ey Ty
(B) amyfv  — wuw. fow emn
SERATATS dwE oA

(C) Ta-srfysa — o Afgrer emfon

WRAGAE =~ Hele 'S

(D) FeIFR- — SR o, A,

U= eqfor e

RUEED
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46.

47.

Which of the following terms was

used by the Human Development

Report of 2002 ?

(A) Regional Governance

(B) Participative Governance

(C) Decentralized Governance

(D) Democratic Governance

Consider the following statements

about the administrative culture in

India. Find out the correct ones.

(@) Administrative culture in India
is non-participatory

(b) There is overcentralization of

decision-making

(¢) Administrative culture is low as
there is no structural
differentiation

(d) Administrative culture in India
is politicised.

Codes :

(A) (a) is true, (b) is false

(B) (b) is true, (c) is false

(C) (a), (b), (c) and (d) are true

(D) (a), (b) are true, (c) and (d) are

false

46.

47.

APR - 15317/111—C

N~

2002 Hret=Al |JAdT 1

@Al I =T STANT Shedl ?

SHTEEIA TgaTH

(A) TR TR

(B) TeYFT IMHTeIa8R

o N~

(C) Tdehlsd IMHAHTRR

(D) T3l IMETHEER

ARANA FRMhd FEhdr=al deyd

hetatt Tretd fagm fo=ama =1 @ndia

TR fae™ HIvrt ?

(@) YRANS YRTHhT TEhdl TEAWT
eI T8l

(b) Tl Eroar=n Ufha= STdTehaIohi
ELSHcES

(c) WETHs fafa=sio T9eam

RTE T &l 1 qidesr oTe.

[N

(d) YRaTdra FIMHSRTE ATHdrd

TSTeh TR0l STl 371G
‘H@T-TI'T:H M
(A) (@) SR 99 (b) Hh
(B) (b) TSR T (¢) IF
(©) (@), (b), (¢) U (d) TR TR
D) (), (b) IS AR U (c) M (d)
I 3ME
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48. A planned approach to development

49.

in India is considered to be the

contribution of .............cccceeiiii. .
(A) Sardar Vallabhabhai Patel
(B) Pandit Jawaharlal Nehru
(C) C.D. Deshmukh

(D) Krishna Menon

Consider the following statements
about bureaucracy and choose the
correct statement from the codes :

(@) Bureaucracy has an important

role in policy formulation

(b) Though it

responsible to the executive it

is directly
has control by the legislature
and judiciary

(c)

Bureaucracy does not need

reforms because it only

implements policies

(d) The principle of ministerial
responsibility is applicable to
bureaucracy

Codes :

(A) (a) and (c) are true
(B) only (d) is true

(C) (a) and (b) are true
(D) (b) and (d) are true

48.

49.

APR - 15317/111—C

qRar=T HASHeaIgy 9rTH foem, § o
INEH A ST ?

(A) TER TeA9UE Ued

(B) dfed SaEIe™a TE®

(C) T.E. ™

(D) F HH

AR eTRIEs T el faem 49 faeft smed.

@ fomm B A faum dehdishren

MR e,

(@) ®ro fAfda Freetemdien Aewerget
oftehT Hd

NRIMET S HRIhR Aol S99

)

SAEER 3THel 90 FECHES 9

ISR ARTEa] = 3/

TMHEME  HAB

(c) NI

AU Hd AT T

FHROM AT TS T,

(d) AfATEr=ar JAa9geie  d<d
AhTMEAE @] B
e

(A) (a) 30T (c) ST A&
(B) a3 (d) IR 3T

(C) (a) 30T (b) SN &
(D) (b) MM (d) SRS R
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50. Which of the following is the result | 50. THHIUEAER STRIAIUET BT

HIUT TROTH ST ST ?

of liberalization on public

administration ?

(@) WEET=A HEHYT TS AER

(@) Retreat of the state from core

(b) T Hesreie enfies TEraman

functions

, , (c) T ThHATHI
(b) Financial autonomy to the

ministries

Y [a VN o [a
(d) FhWRIBE 3ThITATT ShH[ ShI{TITH]

(¢) Bunching of the ministries ;
(d) Down sizing of bureaucracy Hiskdih :

Codes :
(A) (c) 3T (d) SR 3TRd

(A) (¢) and (d) are true

(B) (@) Ik 38 TU (b) UK 37
(B) (a) is false, (b) is true

(C) (b) and (d) both are false (C) (b) 3T (d) =T FF 3Teq

(D) (a) and (d) both are true D) (a) M (d) Tl SR TR
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51. What was the central objective of | 51 1973 [y esferadErEr =vr=n fITER

NIEO initiated at the 1973 NAM

IReRd A Fe Saserd s

Summit ?

ZEed= (NIEO) = Heradl 3fgs Shiv
(A) A shift in the terms of trade to a2
favour primary commodities

(A) ScaTfed oy/AeaeT Mafieh a&g

relative to the manufactured

goods Y WA QUATETST SATIRI A

(B) A shift in the terms of trade to

favour manufactured goods

(B) WufHer axquen Icdrfed AT

relative to the primary

T TS AR 3T -

commodities

e &g

(C) Industrialisation in the

North ©

(a

(D) None of the above (D) SciUeh! Tehdl -Tal
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52.

53.

Which items are included in the
First Committee of the UN General

Assembly ?

(A) Social Humanitarian and

Cultural
(B) Economic and Financial

(C) Disarmament and International

Security
(D) Political and Decolonisation

Under which chapter of the UN
Charter the UN Security Council is
authorised to take effective collective
measures to maintain International

Peace and Security.

(A) Chapter IV of the UN Charter
(B) Chapter VII of the UN Charter
(C) Chapter VI of the UN Charter

(D) Chapter II of the UN Charter

APR - 15317/111—C

52. TIF TSI AHIT= Yord Wi

EATeTUeh! ShIUCT Seii=l THEY el

Ay ?

(A) TSR, AFEAER!, Tk

(B) e amfor foxitar

(C) fzreftertor onfor  sAiaeusera
T

(D) Ustehtg 3mfor feidmedien o

53. WHFA ISST=AT WAG=AT HI AT

)| MG R ARSI RO R 63 I EC G|

ST Maar o geiagad

GROTHRRE HHfEh SURRISHl 0T

AYHPR QoI AT 3TRed 2

(A) 99 T Tfeal F&HW IV

(B) §IF T TIAT W0l VII

(C) ¥ T Hieal YW VI

(D) TIF T Tiedl o 11
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54.

55.

Osborne and Gaebler have codified
certain features of New Public
Management approach. Which one
of the following is not a part of this

codification ?

(A) Public administration with

managerial principles
(B) Citizen-centred administration
(C) Government as a facilitator
(D) Equity and social relevance

Which of the following has been

responsible for structural

transformation as well as inducing
the spirit of self governance in

India ?

(A) Right to Information Act

(B)

District Planning Committees

73rd and the 74th

(C)

constitutional amendment

(D) Incorporation of schedule 11
and schedule 12 in the
Constitution

54.

55.

APR - 15317/1I11—C
et STf Ao AT AR
ARG ITHATAT
gfeRAT= il afeTses GEaqul Teat
HIOTd AfYTSST A

5T SAIEATYA

- [aY NN
SHled. (el

qreofiq ATet ?

(A) I axe=l ARG

GHETT
(B) AMish-shgl G9mEA

(C) YMEEEN WUS Th adh

(D) FHMEA STUT HIHISeR UKl

GeAcAteh] I oTe YR SEAHS
SCA FST SATOUATH SO TG
qeAr Al Fae SRoiYd ot
e ?

(A) wfedi=n STfaR

(B) fSee1 fasm gien

(C) TR d A-ATewRa HeAges

(D) TRferse 11 9 GRE™E 12 =0
TSI GHTART
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56. Why is public administration

57.

considered as a moral endevour and
not merely enforcement of public

policies ?

(@) Public administration provides
stability

(b) Cost benefit analysis cannot be
applied to public administration

all the time
(c)

Promotion and protection of

public  welfare is its

responsibility

)

Public administration exists

even in non-democratic systems
Codes :
(A) (a) and (b)
(B) (b) and (c)
(C) (c¢) and (d)
(D) Only (a)

Development administration

involves various processes. Which
one of the following process is not
a part of it ?

(A) Modernization
(B) Urbanization
(C) Industrialization

(D) Marketisation

56. TATHIITHATAT

57.

APR - 15317/111—C

S enTo=Et
STHASSITEON HION] e Teh FAU A
qHdl RIS & Teh Hideh & o
A S ?

(@) AT B Qq
(b)

AR ©e A0 A=
Teard foageiom |raem™ an] il
Jq TRl

ATRT=AT HedToTd Haeq 3o
TR B AThYRIEAE]  STereer]

Sl

WHYYTET € fIR ArwIEl
HeRYHey g Al o1Ed

Wichdish :

(A) (a) (07 (b)

(B) (b) M0 (c)

(C) (c) 3T (d)

(D) %9 (a)

ToIehTET= YRS 3T9eh Ufsha FHIfas

AN A = o N
S{AdIC.  Cllletden] anlYIcd] Hish<dl cAld

TEEY TG A& ?
(A) STYfRIHT
(B) Aol

(C) SRR
(D) SSTRUSIEHII

(c)

(d)
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58.

59.

Choose the incorrect statement :

(A) The principle of rule of law
asserts that a nation must be

governed arbitrarily

(B) The principle of rule of law was

popularised by A.V. Dicey

©)

Rule of law implies that every

citizen is subject to the law

(D) Rule of law implies that the

rulers are not subject to law

Which of the following articles of the
Indian Constitution deals with
powers and functions of Indian

President ?

(A) Articles 320-323
(B) Articles 246-250
(C) Articles 52-62

(D) Articles 33-51

58.

59.

APR - 15317/111—C

Telieish! gae faeam  sfeen

(A) FESIE U9 § dw 3 HJMd i

~

chdl

T HRYUR. A GG

arfest

(B) TS SEE A wHEeE™ T,

N0

chdl

B GheUdl IR

(C) &SI UST  TBUTS  gedh

AR’ higea™ d9F 3]

FECI U9 WU Sghdl, ©

HESAE S AR

(D)

I ST d ATHR a &

A= TG IRATE TSIEET=A

U] AU eedd 7
(A) He™ 320 d 323
(B) & 246 d 250

(C) &e™ 52 d 62

(D) FAH 33 d 51
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60. Match List I with List IT and select

the correct answer by using the codes

given below :

(@)

)

(c)

d)

(1)

(2)

(3)

(4)

List I
USA
UK
India
Switzerland

List II
Republican Democracy
Collegiate Executive
Constitutional Monarchy

Presidential Democracy

Codes :

@ b)) © @

@a O @ @ 3

B) @ 3 @ @

© 3 @ @O @

D @ B @O @

i drg e e
It 1

(@) IJ.THET

(b) .

(¢) 9Xd

APR - 15317/111—C

60. a=r I efor It 11 Heffel sIeshi=an
Sed el S WIefie  Aiehdrehl-

(d) Taeee

et 11

(1) ORI Alhe!

(2) 9reieh FHRARNIHASD

(3) EEAHE TSITMEl
(4) 1AL AIHITE
Wichdih :

(a)
A @
(B) 4)
©) 3

(D) 4)

(b)
4)
3)
)

3)

(c)

(2)

(2)

(1)

(1)

(d)

3)

(1)

(4)

2)
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61. Match List I with List IT and select

the correct answer from the codes

given below :
List I

(@) France

(b) USA

(¢) UK

(d) Switzerland
List II

(1) Conservative Party and Labour

Party

(2) Christian Democratic Peoples
Party and Social Democratic

Party

(3) Socialist Party and Europe
Ecology

(4) Democratic Party and

Republican Party
Codes :

@ ® @© @
A @O @2 6 @
B) 4 1 @ @)
€ 2 8 @ @
D & @ @1 @

APR - 15317/111—C

61. I I =Mfor It II = arg Siedl

Jegal offur Wrett foeiean  Hrehdrehl-
Ty 9rg @ feer

et 1
(@) W
(b) STafERT
(c) IS fepren
(d) e
et 11
(1) Feieedee Uel MM AR wel

(2) Tov=q SHlhIs fugeq ey oo
TR Sl U8l

(3) G q& offor JAq gehfarsit
(4) SHIRII® T&y Ao Rusciieh a&r
Hichdleh :

(@ B) © (@
A @O @ 6 @
B @ @1 @ @
< 2 B @ @

D 3 @ QO @
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62. Select the correct code : 62. IRG Whdish el
(i) American Constitution was () Sl TsF¥eT aiiied 9
drafted at Washington. qg s {0FId ATl

Gi) In the history of making of the Gi) T o= fafddre

sfaeramed ot 1215 ¥ oW
British Constitution year 1215

g 3TR.

is very crucial.

(i) Tarecie=l TST"eT ey et
(Ziz) The Swiss Constitution is federal.

3.

(iv) Indian Constitution is based on

(jv) IRATE] ToIEeA] =™, W@aA,

the principles of justice, liberty,
gaar enfor Syar ar dxaiey

equality and fraternity.

Afrsdia oTe.
Codes : il -
(A) (), (i) and (iii) are correct A G, Gi) T Gii) TR ST
(B) (i) and (iv) are incorrect B) (i) T (iv) T oM
(C) (i), (iii) and (v) are correct (C) (i), Gii) 3 (jv) SR R
(D) (i) and (iii) are incorrect (D) (@) =01 (jii) 9% TR
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63. Recently in 2016, Philippines

president expressed that US should
leave their military base on the
island of Mindanao. The main reason

behind this is that :

(A) Philippines does not want to
upset China in the wake of

South China Sea Controversy

(B) The agreement for joint military
exercise between the US and

the Philippines is over

(C) Philippines has acquired
sufficient funds from the US for

its defense

(D) Philippines was compelled
to change its policy by the

ASEAN

63. 3RS 2016

APR - 15317/111—C

Ted

foReaTs =a=ar

~

EEEIC IR EICR

o~

TeTEAET ST

I Tos TSl 3 To91 ¥ hadl.

M & HROT § AR

LWL

(A) <feqor =i

HHKIGgA=Al  JIQT=AI

qred e frefifoaen ===

TS Slegd ==l @

(B) fwreiifg anfor s@fen =i

TIH AHU TRIATEEAAT ]

(D) erfgar geedgr  fhefa=Tax

ATA OO SCATITRdl ST

ST
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64. Which of the following statements

is not correct in respect of feminist

approach to international relations ?

(A) Politics among states affects

women more than men

(B) Unequally gendered inter-

national system needs to be

restructured

(C) Human behaviour is influenced
by structures external to actors

themselves in international

politics

(D) Morality has to be disassociated

with political actions

APR - 15317/111—C

64. SR T SiaR!  fagid-
ol e faument o faum

TR A ?

(A) ToAHee USeRRoTEl eI

foger S/ gftomg 2t

(B) feim fosmargen oAy Saed=t

TREA B0 TR 3T

(C) ATAWTSIIA S EA RN

o

ARt =g

o

[Rerdl

qed EAIER

el odq guifad S S

N0

adl %lend

(D) TSR FHARA \faeh

B0 SAEYTh TR
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65. List I below gives the names of
scholars who contributed to the
Game theory and List II consists
of the models used by them. Match
List I with List II and select the
correct answer from the codes given

below :
List I
(Scholars)
(1) John Neumann
(z1) Oskar Morgenstern
(iii) Emile Borel
(iv) Reinhard Selten
List II
(Models in Game Theory)
(@) Minimax theorem
(b) Subgame perfect equilibrium
(¢) Cooperative Games
(d) Brouwer fixed point theorem
Codes :
@ @) @) (o)
A) b) (@ ) (©
B) d @ (@ ©b)
C) @ (@ b)) (©
D) ) @ (@ (®)

APR - 15317/111—C

65. T faeiedn et 1 968 Wos fagiart
Hafyq fagmar=n @ o{a At 11
ey @ faeRfad sherett gfaAm feel
. AR 1 et Il I1 ==t 4
S0l e Eeidd HiehalhMmed A
g et

a1
(fagm)
@) S =gEA
(i) &R A=A
(i) T S
(iv) TR Heed
Tt 11
(@ fagiardter wfaar)
(@) i fagm
(b) GH ThHFE FHAITATSIIH
(c) iR T
(d) st fipere dide fagid
Hichdleh :
@ @ Gu) Gv)
A b)) (@ @ (©
B) @ @ (@ ©®)
©C) d @ B (©
D) © d (@ (©b)
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66. Here is a list of wars which took | g6, 39 o= HeESHR e HE!

1 ft th S 1 . S o o N B
place after the Second World War Tt at fae AR A AT

Arrange them in correct
FIARATLIR ATA ©iret  feaen

chronological order and select correct
Hehaemyd arg 94y Haer

answer from the codes given

below : @) T4 TR g
(i) Yom Kippur War (ii) HAdEIA R ITTHH
(ii) Iraqi Invasion of Kuwait (iii) TR TS

(ii1) Falkland War

(jv) AR Hifoad ATHHUI

(tv) Soviet Invasion of Afghanistan
Hichdich :
Codes :
(A ) G@uv) @Gu) @)
(A @) Gv) @) )
B) Gi) Gir) @) (@Gv)
B) Gi) @) G) (o)
©) Go) G G G (C) Gv) G) G @)

D) Gv) @) G GiD) O w) & )
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67. Which of the following is/are

features of the Logistics Exchange

Memorandum of Agreement

(LEMOA) signed between India and
the US in 2016.

(z) The agreement allows both the
countries to share food, water,
and repair and

oils, etec.

maintenance services on

reimbursible basis

(21) No country can set up a base

in each other’s country

(ziz) It is useful in joint operations
humanitarian missions and

relief works

Choose the correct answer from the

following codes :

(A) All are correct
(B) Only (i) is correct
(C) Only (i1) is correct

(D) Only (i) and (iiz) are correct

67. 2016 WY YRd o TR

APR - 15317/111—C

N

QA+l

e AT ToRgaS] HaNEH 31

AUt (LEMOA) &1 ST

EcAteldeh! Rl ofyTsel ofd ?

(i) &I FAUGR T8l QU1 3T, UTof,
A 3. ST AT STV ST Hell

N N A
WAHhs drdlal A4URdl «dic

(i1) HIUTCATE! SYMAT TLEIL=AT I ed

IYRAT IO TR

(i) TgF HRAE, AFE fage shfor

Aed TR B HIR ST

Sl

Teld HiehdienmEd I v et
(A) & T AR

(B) % (i) SReRX 38

(C) e (ji) SeR 3T’

(D) e (i) ST (i) e 3TRd
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68.

69.

Select the incorrect attribute of
modernisation from the following :

(A) Equality

(B) Capacity

(C) Power

(D) Differentation

Match List I with List II and select
the correct answer from the codes
given below :

List I
(a¢) Vilfredo Pareto
(b)
(c)

d)

Gaetano Mosca
Robert Michels
Ortega Y. Gasset
List II
(1)

History is a graveyard of
aristocracy

(2) Circulation of elites
3)

4)

Organisation is oligarchy

A nation is an organised human
mass

Codes :
(@)
A) (2
B) 1)
©)
D) D)

(b)
o))
2)
3)
3)

(c)
3)
(4)
2)
(4)

(d)
4)
3)
(4)
2)

68.

69.

APR - 15317/I11—C
YRR ST ST o ?
(A) GHd
(B) &
(C)
(D) fafyr=ferom

@l feetedn iehdishT=a HR=A Il

19 At I aJr= 9ra Sien et
EIC |

foemher W@

fer e

RECREN G|

M TE. T
arer 11

gfaer & HerSRIEEl TR
T8

ARSI SRR

el WS SS9

(a)
(®)
(c)
(d)

(1)

(2)
(3)
(4) T TUN T @i oA
Hichdieh :
(@) (b)
A) 2) 1)
B) 1 @)
(C) 1) 3
D) 1) Q)

(c)
3)
4)
2)
(4)

()
4)
3)
4)
2)
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70. Mark the correct statement about

Panchasheel agreement. Use the

code :

(z) Bilateral agreement signed by

India and China in 1954

(z1) Mutual respect for each other’s

territorial integrity and

sovereignty
(ziz) Mutual non-aggression

(Zv) Mutual non-interference in each

other’s internal affairs
Codes :

(A) (1), (i), (tv) are correct, (i) is

incorrect

(B) @), (1), (ii1), (iv) are correct

©)

(1) 1s correct, (i1), (zi1), (1v) are

incorrect

(D) ), (zz) are correct, (i11), (iv) are

incorrect

APR - 15317/111—C

70. TERNA IRl Hewuld  HiehdiehTeAl

YR Ay faum  wen

() WG ATfor =9 IT=ATdAd 1954

Hefie fguefa SR

(i) U] yRfyred srmiedr o
HEYHcT =] ILEaT 3AeT

(111) STATRHT

(jv) T SAAPd A edosedes o

HITAT R

Hichdieh :

(A) (@), (i), (iv) SRS &, () Ih
3R

B) (), (i), (iii), (iv) SRR A

(C) (i) SR AR, (i), (iii), (iv)
T AR

D) @), (i) IR 3, (iii), (iv) Tk
3R
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71. Match the pairs and select the
correct answer from the codes given

below :
List I
(Treaty)
(@) TAEA
(b) Tlatelolco
(c0 EURATOM
(d) CTBT
List II
(Year)
(1) 1996
(2) 1957
(3) 1967
(4) 1958
Codes :

@ b)) (@ (@
@ @ 3 @ @
B) 2 & @ @
< 3 @ O @
M @ @O @ B

APR - 15317/111—C

71. It I " =R 9 Il I "eid
g8 AT AR Siedl HiehdTehT=a

FER el
Tt 1
(F)
(@) TAEA
() Tlatelolco
(¢0 EURATOM
(d) CTBT
It 11
(ars))
(1) 1996
(2) 1957
(3) 1967
(4) 1958
Wichdieh
(@ B) () ()
A @ 3 @ @
B) @2 B @ @
< 3 @ @O @
D @ @O @) O
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72.

73.

Select the incorrect statement from
the following theoretical approach to

International Law.

(A) Realists are great sceptics about

International Law

(B) Constructivists offer resources
for understanding the politics of

International Law

(C) The new liberalism has placed
human rights law at the core

of International Law

(D) The critical legal scholars claim
that International legal thought
operates not within a confined

Intellectual structure

What is the percentage of seats
reserved for women in Panchayati
Raj Institustions after the 73rd

Constitutional Amendment ?
(A) 50%
(B) 40%
(C) 45%

(D) 33%

72.

73.

APR - 15317/111—C

FATAWTSLTT  HTISAT=AT  HWldra

deenfs geSARIATETET  STHUIT=AT

fauret g faum wien

SR HECIEEd  aadG]

S HYREUET 3T

(A)

(B) STAWST hHiIcarel TSTehROT=

SMhATES TIATER]  HIEETHUT
TG

ﬂqSQI{qulq?Ji"lﬁl '-II"|°|'\I‘5°|'°h nl4ql

AW HIASATAN o ST
3 3R

(C)

(D) fafecs durfrs gfewiam

ATTE  AH TET Hidd i
AT e foar &1 waifed
difeeer = Idd Ed el

7351 FEAGEH AdX UEEd TS

HeEdmed T fh
e emea ?

o N o
[ coen Rl Sl

(A) 50%
(B) 40%
(C) 45%

D) 33%
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74.

NITI commission was established

APR - 15317/111—C

IN e, .
(A) 2014 (A) 2014
(B) 2015 (B) 2015
(C) 2016 (C) 2016
(D) 2011 (D) 2011
75. What was the code name of India’s | 75. 9RAM 1998 ALY Tdoiedl JAvaE
nuclear test taking in 1998 ? U Gihfae A wE B 2
(A) Operation Vijay (A) foEE fas
(B) Operation Shakti (B) SWORIM ekl
(C) Operation Little Buddha (C) JAMWE wead ol
(D) Operation Smile Buddha (D) ATRTE TEA TG
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ROUGH WORK
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